Chapter 4 Review
1. In which quadrant is 
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2. What is 
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3. What is the length of the arc cut by a 
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4. What is the smallest positive angle that has the same terminal arm
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5. The point 
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is on the unit circle and the terminal arm is in the 2nd quadrant. 
5.____

    What is the exact value of the missing co-ordinate?
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6. What is the measure of the central angle if 
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7. If 
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, what is one approximate measure in radians for 
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7.____
(A) 1.03
(B) 0.54
(C) 0.64
(D) 1.88

8. Which exact measures of 
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9. What is the exact value of 
[image: image37.wmf]÷

ø

ö

ç

è

æ

-

3

7

tan

p
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10. Solve for x: 
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(C) 
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11. On the unit circle, how many radians would the point (-1, 0) pass if rotated 

11.___
       counterclockwise until it first reaches 
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12. Determine the exact value of:   
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13. Determine the exact value of :    
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14. Determine the approximate measure of the angles that satisfy the following: 
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15.
The point (-4, 8) lies on the terminal arm of an angle, [image: image57.png]


, in standard position.  Sketch the angle in standard positon.  Determine the exact value, in simplest radical form, for all six trigonometric ratios of [image: image59.png]


.  Calculate the measure of the reference angle, and determine the measure of [image: image61.png]


.
16.
Determine the general solution to the equation below, where [image: image63.png]


 is in degrees.
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17.
Solve for [image: image67.png]


, where [image: image69.png]—7 < x < 2m
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